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DQ -
1 103kgf / cm?
E Er Gir Vo P
2 42.18 1315 11.18 012
118.0 9.2 7.7 037 034
C F S C X 0 C 75.00 6 6.5 040 033
134.0 104 10.1 043 043
S X a F n*
Chebyshev ; a/bzl.O,hI/huzl.S
Ist 2nd 3rd 4th 5th 6th 7th
(11) (21) (31 (21) (22) (32) (41)
30.06 4305 72.93 7753 87.69 1115 1183
2 2990 4295 7290 78.76 8828 111.3 118.3
29.89 4295 72.88 7856 8815 111.3 118.2
- =Wa2 'rh /DO 29.89 4295 72.88 7853 8812 1112 118.2
0 X C-C 29.89 4295 72.88 7853 8812 111.2 1182
Lal 2990 4294 72.88 7853 88. 1112 1182
29.89 4295 72.88 7853 8812 1112 118.2
2) 5) 29.86 4294 72.86 7853 8812 111.2 118.2
29.89 4295 72.87 7853 8812 1112 1182
2090 4295 7285 7853 88.12 1112 118.2
SEM 29.87 4291 7282 7840 87.96 111.0 1181
Lal 2990 - - 7860 - - -
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